[ Efficiency vs vertpos |

=0.02 : :
D018 ++eeeriereeeeea :
4 = : :
D.016F
Q -
$.014F
_U -
8.012F

0.01F
0.008F
0.006F
0.004F
0.002F

1.0

iy
=

107 1

10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

1

0.8

0.6

fake+duplicates vs. r

0.4

0.2

Ratio
N

Efficiend

—=— DQM_TT_original_time
—— DQM_TT_modified_time

~ 0.0] ; ; ;
B000 oo

0 FE : .
0.008F------ el :
3 E N : :
@.007_— ------ R SRR RRE :
8 E : : :
E:oK0101s) SRR SRR !
9] E : : :
e S I :
0.004f -+ wrberserefresend
0.008f++++-vieresedreseenes 5
0,002 +++-vferseseireseenes ;

0,001 --------eeme i :
.0

Ratio

H
T
::

0% = T

[ Efficiency vs. sim PV z

10 20 30
TP vert z (cm)

~ 0.01
>
£0.009
B.008
9.007
>
B.006
R
$#.005
(]
0.004
0.003
0.002
0.001}

L

Ratio

=
T
1
T

0.9

5 0 5

|

15 20
Sim. PV z (cm)

10

0.8

0.6

fake+duplicates vs. z

0.4

0.2

2.

.......................

Ratio
N

0.95)

-10 0 10 20 30
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

1

0.8

0.6

0.4

fake+duplicates rate vs Sim. PV z

BTS00 1 2 3T4s
Sim. PV z (cm)



	Contents
	Page 1


